
 
July 6, 2025   TCPC Worship Helps   Name _________________________ 

 
The title of today’s sermon is _____________________________________ 

 
Word Bank 

 
blindly  dependence everything faithfulness need realize  strength want word 
 
recognize settles  signs  starts   strengthens unseen  weakness   
                  
Saving faith ________________ with need 

The point is not that saving faith begins when you ________________________ your need. The 

point is that it begins with need. You need a savior, whether you __________________ it or not. 

Initial saving faith does not happen from a position of _________________ but from a position 

of _______________________.  And the faith Jesus saves us into doesn’t lead us into a position of 

strength but of ___________________________. 

Saving faith __________________________ through trust 

Saving faith does not strengthen through seeing more and more ___________, saving faith 

strengthens through trusting in Jesus's ____________. 

Why is it so important for Jesus to have us believe his word?  Because saving faith requires 

believing in many things that are _________________. 

Saving faith ____________________ through faithfulness 

Jesus does not command us to believe in Him ______________, but to believe in Him in the 

present and for the future based on his past ________________________. 

The gospel is not that if you believe, God will give you everything you ___________. The gospel 

is that Jesus has saved you from your biggest ____________ and in Christ, we already have 

______________________ we need.  

Because Jesus is faithful to His word, God’s people can trust Him even when we can’t yet see the outcome 
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